FAHY—ER LU A—%AE FEANEE

RAFI0OR1AIRE
1. EXHE tEmsR @M E
H—ERXRNE IEH By maamE (%) |ssama 0w |saaea G sz
BT EE X 150 By /[ 750 F] 1,500 M 2250 H
(TeFMEI L E EoiE2 887 Hifu /[ 887 H|1,7714 H 2661 M
lisiESE) Z €3 | 1,028 Efr /EI| 1,028 F|2 056 H 3084 H
Z €4 | 1,168 Ef /EI| 1,168 F] 2,336 M 3504 H
ZriE5 | 1,308 Efr /EI| 1,308 F]|2616 A 3924 H
2. FEME - BEME
IEH B{r sEaEE OF) |acang of) |asang o) S
ANBmME (1) 40 Bz /[E 40 M 80 M 120 A
H—ERREAFIMNE I 22 BEAL /[ 22 M 44 M 66 M
EWEE (FE) -47 B /| -47 [ -94 M| 141 A|CRRESZDETSBE
B—EMEE -94 Bf4r /[H -94 H -188 M -282 Hle7v—erers—cm-mmarLcn a8
BIPHIN R RN 40 B /A 40 gom| tom| T T
BN ERENSE I BHERICE B (5.9%) ZmE
EER R EALBREMNR | BEMHICRCIEM (1.2%) EME
. ERHE HEEXE
H—EXRNAE IEH || =R v BoaEE (8 |acaiEa of) |acaEsE Ga) e
weszx | =X || 16128 /A 1,672Mm] 3,344 m| 5016 M
(R | Exig2 || 3,428 mm /A 3,428 @] 6,856 M| 10284 M
4 FEME - BEME
I5H B BEasE (5) |acaiaE o) |acaEE G e
P R RSN E T 88 %m /R 88 M 176 M 264 M (Ei#fw
176 861 /A 176 A 352 H 928 M| (ZExiE2)
E— R -3176 %1& /R -376 M =752 H| -1128 A (%i?ﬁj”
-152 B4 /R -152 ] -1504 A -2256 M| (EZxE2)
RN EEEATNE 40 Bz /R 40 80 M 120 M
B E LB EME | BEEHICE B (5.9%) ZmME
BB RELEREME I BEMHICRCIEL (1.2%) EME
NEBER—RT v TEXEME REMMICRUIEE (1.1%) £mE
5. ZDMDME ramaRBERNE - BAFERE)
IHE By #E e
BE 18 580A| BHERET
EBE 1[E] RE| F=- V77 FDEOERNLGHMME
2 E A Tkm 18| BEDOFDREMBLUNDIEE, RIS ZEEA =R o RE




